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WEST BENGAL STATE UNIVERSITY
B.A. General PART-I Examinations, 2016

PHILOSOPHY-GENERAL

PAPER-PHIG-I
Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks. 2NfeF T F0E FYe ’j‘f/ 1 AT F 1
Candidates should answer in their own words AT TR TG A O 78 2T
and adhere to the word limit as practicable. 2 TeF we|

Group-A
e+
Answer Question No. 1& 2 and any two from the rest within 300 words each.

SRS} T AT TE ik WRATHE et o oy (U CR-ce %% et Bew @ife woo *itarw
: Y WS | '

1. Answer any five questions within two sentences each: 2x5=10
Q-1 21677 @iver Tew 2ifefs wib A wuy we:
(a) What is ‘Aprama’ according to Nyaya Philosophy?
o sy &y ,
(b) What is ‘Smriti’ according to Nyaya philosophy?
T i g’ [y
(c) Mention the name of a Carvaka Philosopher.

GFG 5iE wffaEa F1 39

(d) How many Pramanas’ have been accepted by Carvaka Philosophy and what
are they?

e Wit Foaf e fge grre ai Glef & [

(¢) Mention the name of a Navya Naiyayika.
GG Y (AR 1 Trare 31
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R [ e omid [y

(g) Who is the founder of Vaisesika philosophy?
TR Wl ettt (37 '

(h) What is the VaiSesika category of ‘Dravya’?
iR e Ty’ omid [y

(i) Define Maya according to Sankara.
k(G E R ACR B E RN RG]

(j) Mention the name of an Advaita Vedanta Philosopher.

GFG SES (@IS wffaEa I 39

2. Write short answer to any two from the following within 100 words each.

fAsfeie @-cei 767 S Soo =i Ty W Fre Tex @14
(a) Define ‘Yathartha Anubhava’ according to Nyaya.
TS TN TSR TG RS |
(b) Explain Carvaka’s ‘Bhutachaitanyavada’.
I GOSN AT 4
(c) Classifiy ‘Abhava’ according to Vai$esika Philosophy.
AT e e ‘TR @ et #91

(d) Explain the ‘Vyavaharika Satyata of Jagat according to Advaita Vedanta.

S [@AVTIACS THI0eF IRRATE Fereid 11 F41

3. Explain the Advaita concept of ‘Brahman’.
ST T A JUA LIl IR0 A

4. On what grounds Carvaka refutes ‘Anumana’ as distinct Pramana.

@ (@I I AQYE ST SR TOF & DG FACEA?

5. Explain the definition of ‘Pratyaksa’ according to Nyaya.
RACS ‘o’ I FH |
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6. Explain the category of ‘Samanya’ according to Vai$esika Philosophy.
AR W Sy 2w |

Group-B
Reta-4

Answer Question No. 7 and 8 and any two from the rest within 300
words each.

q 26 b 7R &ATHA Teq e TRPE e fer ST (AT (-G 71D elved Ted
2if$b woo *THa WTy WG|

f Answer any five questions within two sentences each. = x5l
- 25/ 2ivas Tew 2 7fb e W e :
(a) Mention the name of an empiricist philosopher.
4T SfsEeri wffacEs w1 3
(b) Mention the name of a rationalist philosopher.
@ e v w1 76
(c) Mention the name of a critical philosopher.

GG oA wfeca i 3@

(d) What is main theme of parallelism regarding the relation between mind and :
body? '
(2= WA 91 TR0 TSR o 78 5 9

(e) ‘I think, therefore I exist’—Who says this?

‘SIS 5o 3R, Tread ifil W’ -« FU & 0 2
(f) What are the main concepts of Naive Realism?
e TN T 76 T T 9
(g) What is idealism?
CIRAM FICF A ?
(h) What is ‘Monad’ according to Leibnitz?
Fizafe e TWw & ¢

(i) What are the different Guna according to John Locke?

o A o Rfeneer edel & 9
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All ideas are innate’ ~Who says this?
VR YRNR HRETS” — G (F 07

8. Answer any two questions from the folloWing within 100 words each:
fafeie Q- 76 et Tea 2fef soo =i W wie |
(a) What are the main tenets of Entailment theory of Causality?
PRI T LI o1 TeefE B R o
(b) Explain identity theory as theory of Mind-body relation.
TR A wfoereE 71 | _
(c) Explain substance according to rationalists.

T3] A JfadInins 363y 1 991

(d) Discuss in brief Locke’s representative realism.

TP AfOTHN TEAW FCHC! WA 39|

9. Critically explain Empiricist view of substance.

T FNE SRR 7 Ro={a S 4|

10.  Critically explain the interactionism as a theory of Mind-body relationship.

(-3 379 @i f&a-aifeferaam wef® HRivm e a1

11.  Discuss in detail the views of Rationalism as the theory of knowledge.

I TN iR Tedm RefResir S 34
12. Explain Berkeley’s theory of subjective idealism.
SIS SRAM F9ICF A 0%l 11 3911
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